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1 - T &Y Tehid T 7ge

Nature and Significance of Management

Wgﬁ'ﬁ'JH%T(S 37h) Short Answer Type Questions (3 Marks)
Q1 - STEe I TEEUT TR FAT AT STl 82

Why is management considered to be a multi-dimensional concept?

Q2 - T T S HUNE BTSH o It THIT shl Yeiefsh 2| 8 TS H fohd Tt a8 1 el 2l

Ritu is the manager of the northern division of a large corporate house. At what level

does she work in the organization? What are her basic functions.
Q3 - JSE o IS oI TR T BT JU ShITSTT|
Describe any three secondary functions of management.
Q4 - “TsiT Teh TTeATeHh TEhHaT 2" T Hifv
“Management is a dynamic process” Explain.
Q5 - "SI Ush hell &7 TIE hifwry)
“Management is an art”.Explain
Q6 - UTeX TF TRt ST UG Jaier oht aiemT forfau)
Write the definition of management as defined by Peter F Drucker.
Q7 - "UeE Ueh [ 2" TIE FhifST |
Explain "Management as a science".
Q8 - "JsitT T TUITeAT " ¥ SHIfT |
Explain "Management is a system".
Q9 - VT & Hey H ety o1 T HEedl 82 T¥ Hifsry

Explain the importance of management in the context of India.




e o (5 37h) Long Answer Type Questions (5 Marks)

Q1 - "Ssier T T Teh-gB o TIFT=l € |" TIE ohid §U T M1 # e feafam

"Management and administration are synonyms of each other." Write the difference

between them.
Q2 - e ford hed 82 Teier it farsiaret s auzse?
What is Management? Explain the characteristics of management?

Q3 - e o foheel Ui e i fetRaw |

Write any five objectives of management.

Q4 - ST&e o T FTT i THIATET? (F1S 5)

Explain the main functions of management? (Any 5)

Q5 - “TH-TT YT T U | T ATT TeHd 827 FHIT T I |
“Coordination is the essence of management.” Do you agree, Explain the reasons?

Q6 - IS o T ' E T AT &2 TG o farf¥= &l ok AT oh1 Heqq U hifeTg)

What do you mean by the term levels of management? Briefly describe the functions

of different levels of management.
Q7 - "Ueh HheT ITHT T ILAT hl I T § T FRIeTaT | UTH Hell 8| T HIfrg |
"A successful entrepreneur achieves his goals effectively and skillfully." Explain.

Q8 - ek IUsHH ShT Toheldl H Yeier el TR BT 22 T8 shifSu)

Explain how management contributes to the success of an enterprise.
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2 - Tater o frgia

Principles of Management

Eﬂ'ﬁiﬁqggm 37h) Short Answer Type Questions (4 Marks)
Q1 - |1 @ e qaet Hush fid i THEsy
Explain the principle of 'Scalar Chain' and 'Gang Plank’
Q2 - TSI < ThdT o1 Torgid ToieT o oI forer wer oIt 82 wqw hifeg |
How is the principle of ' Unity of command' useful for management? Explain.

Q3 - T Y ekl Ua FETT Y ekl & ahIg TR 3TaT ¥ Hifry)

Explain any four differences between unity of command and unity of direction.
Q4 - ATk TeieT sl qhri1ehi shl AT HITST (FTE 4)
Explain Taylor's principles of scientific management? (Any 4)
Q5 - SSTieh Tater o ferrer siftreht g ot e T 22 Tum i
Why is scientific management opposed by workers? Explain.
Q6 - THI T (T ST | hig IR T TE HIfSg)
Explain any four differences between time study and motion study.

Q7 - &Y o fUgid, Teier o & | 1 A9 87 T8 Fhifey)

8
Why principles of management are essential in the field of management? Explain.
Q8 - T TS A o Jelgrehi SI¥ahIvT T I GHATH 82 (IS 4)
What are the similarities in the managerial perspectives of Taylor and Fayol? (Any 4)
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3 - STIHTRIh ATATIOT
Business Environment

a‘cgﬁrgg%r Objective type Questions

g forerey &1 o= il (1 37k) Choose the correct option (1Marks)
. IETRIT o 37 B-

(37)rf T % St WehTeHahdT
C)RISEICEACIEENEIIT]

() TR STEdT Ue E9e | St
(%) ST @+t

Liberalization means-

(a) Integration among economies
(b) Planned Disinvestment Policy

(c) Reduction in government obligation and amendment

(d) All of the above

. = 9 9 i 91 aETiSTeh 9HiaReT AT 3eTeT 8-

(37) ST H & hT AT () SUIRT TReqor Aferfray
() <0 6T =T GRECEEIRIES]

Which one of the following is an example of a social environment —

(a) Money supply in the economy (b) Consumer Protection Act
(c) The constitution of the country (d) Composition of family

3. Toret a1 ot foramT it TwTferd SRt & aral oh-

(37) TTHTISTeR SATATROT T () TR TehY SATATEROT <h
(T TSI STTaroT bt () 3Th |+t
The foreign policy of a country is influenced by-
(a) social environment (b) technical environment
(c) political environment (d) All of the above

6




. 3 TR Al o S 8-

(37) ISR (@) Tosfrertor
(5) SHSTATRT (@) 3uh |+t
The part of the new economic policy is-
(a) Liberalization (b) Privatization
(c) Globalization (d) All of the above
B IGEIREELRRISEIET R C RS
(37) 2012-2017 (s) 2017-2022
(§) 2002-2007 () 2017-2012
The period of the Twelfth Five Year Plan is-
(a) 2012-2017 (b) 2017-2022
(c) 2002-2007 (d) 2017-2012
. T 8 @ - e yateror i ferar 72 2-
COMEET CIELELY
(H) TR G EIREIRG
Which of the following does not a characteristic the business environment-
(a) Uncertainity (b) Employees
(c) Relativity (d) Complexity

ngﬁ'ﬁ'qg%TB 37h) Short Answer Type Questions (3 Marks)

. G Hifd ° SIeeTe ST STEE aUT IR 9 =T IS TedT 22 T i)

What is the impact of changes in government policy on business and industry? Expalin.

. ISTHRIOT § 3ATT T HEd 87

What do you understand by liberalization?

. TSI ATATINT Shl T dTcad 22

What is meant by business environment?
Ao SITATeRYT & H& Beeh fAafla | (s i)

Write the main components of social environment (any three).

. el Frfelen Aifd 1991 A v faeward fafaw (i o)

Write the salient features of the New Economic Policy 1991. (any three)

. "SR STTRT G sTeaET i 1T ohdm 2"l €89 1 feifiay

"Political environment always affects business." Summarize this.

. HTISTeh ITET fohe JehTT STeET hl THTId ShdT 22 TIF hIfSTT)

How does social environment give effect on business? Explain.

A

3

F i
»

- +

“ ~phe

&

-y By

-

%

. .
" - .

-
¥



4 - S

Planning

Afq TS 94 (1 31h)
Very Short Answer Type Questions (1Marks)
a1) Tt feremea =1 T il -
1. Ssier 1 e Ud warai i 8-
(37) T CIXEREL
@) frarsrt () frotert

THETATRARRAARNN

The main and paramount function of management is-
(a) Organization (b) control

(c) planning (d) decision making

2. TIH S &-
(3) ¥[ThreT o ferg (=) dHr o fer
(@) vfersg & o (3) TTH T 15 T
Planning takes place-
(a) for the past (b) for the present

(c) for the future (d) none of these

3. yfceafRlt st FISHT Rt S § TRt QAR Sl TS ATSHT shaalTd -

CEIRED (&) ST

(®) e @) Tt
The plan prepared keeping in mind the plans of the competitors is called-
(a) Program (b) strategy

(c) budget (d) forecast




4. TS B A R-

(37) dlifegen fora (&) e % forefeor
(T T3 fohedt o = (@) 3uh |+t

The characteristic of planning is-
(a) intellectual activity (b) setting goals

(c) selection of best alternatives (d) All of the above

5. TS hi STTavgehar yeY o fore Tt 9T Bt 8-

(37) STT TR T () HETT T TR

THETATRARRAARNN

@) F s @) Tft TR
Planning is needed at which level of management-
(a) at a higher level (b) at the middle level

(c) at a low level (d) at all levels

6. TaTaH fershed T =1 {3 TT ST BT 2-
(@) @& fertoor
(2) Sffrat
The selection of the best option is based on-
(a) forecast (b) goal setting

(c) Alternative plan (d) policies




) Uch Ileq T I ‘q‘lﬁ—rq- Answer in one word-

. ST ST a1 3ifoRen R T hetTal 82

What is the numerical performance of estimated income and expenditure called?

. TS wfsma o1 sifog =or R AT R?

Which is the last stage of the planning process?

. Torelt st ot forer &1 @ wuTied ot 2,38 R hed 27

The manner in which a task is to be performed, what is it called?

. TS Y getar forer ata ot fse st 22

On what does the success of planning depend?

. TS ufsean o1 afas gy yeiy i fora afsmm @ 22

Planning process is closely related to which process of management?

. RIS 6 9l M - | 82

What are the five M's of planning?

. &Y Sl 9Tt o foTg fepweht StTerearendt gidt 82

What is necessary for the attainment of objectives?

P ER R R L (6 37k) Long Answer Type Questions (6 Marks)

. Tt < Fereter A wfsram o1 i Hifsg)

Describe the technique or process of planning.

. Ftohft Ty o Tt Hchiéwlclwg_\c: o} [T I STE%aT BlaT 22 TE ifs)

Why does management fail despite its best efforts sometimes? Explain.

. 3ATeST e oY forarsty o1 avie Fifw) (1% 6)

Describe the characteristics of ideal planning. (Any 6)

. fifa qer swrifafr & stqr wom fifs @1 6)

Explain the difference between policy and procedure. (Any 6)
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RIS i TRt T 29369 Heed I aHETEd| (FE 6)

Why is planning needed? Explain its importance. (Any 6)
. Tam @ ol vd s 1 e e 2 ST 2 T i)

Planning makes the task of decision making and coordination easy. Explain.
. T o fafirT oreeht ot foream & wwegdl (1 6)

Explain in detail the various components of planning. (Any 6)

. T & fogiat st avia v (@15 6)

Describe the principles of planning. (Any 6)
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10.

5 - OeA

Organization

s T (6 37h)Long Answer Type Questions (6 Marks)

. HIST Q7 IR 22 G o Heed shl 1@ hifSq)

What is meant by organisation? Explain the importance of organisation.

AT ST FAT 27 TS o 39 UTEY oh & AT TS 2l ST ohl sqTeaT T

What is functional structure? Explain any two advantages and any two disadvantages of

this form of organisation.

. TS TS TS o AT YIRrdoT (3Hor) ot ATI9areh THel ST 82 T i)

Why is delegation considered necessary for an effective organization? Explain.

L@ TS AT LT AT HHET B3 § 3Tt T8 Hif? (15 6)

Differentiate between line organization and line and staff organization. (Any 6)

FTcHh TS I THHAT e T fohe TehR =T 22 (FTS 6)

How is functional structure different from a divisional structure? (Any 6)
Shesftertor SN foraheiontor 3 sfier STl (1S 6)
Distinguish between centralisation and decentralisation. (Any 6)
SHTITcHeR TS shi T farioaTd 82 (1S 6)

What are the characteristics of functional organisation? (Any 6)

. HTATcHe T3 JUTTe! o 07 SId18Y| (1S 6)

List the merits of functional organisation. (Any 6)

. T T&T hl UTH i o 17T ETTa H hs shad T Bid 8| 4 =0T hl SUTEAT il

Organisation involves a series of steps in order to achieve the desired goals. Explain these

steps.
SRR T3 3T SR ST | 3iat T8 s (F7s 6)

Differentiate between formal organization and informal organization. (Any six)
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6 - Frafma

Staffing

a@ﬁ%ssrar "Eﬁ%ﬂﬁqgﬁm (1 37k) Choose the correct option (1Marks)

1. it SfsRaT H @ISt ol STl -
a) afeg =it it
b) TETHE HH=TRET AT
c) Teft T
d) fafre swe=niet i

Recruitment process involves the search for —

THETATRARRAARNN

a) Senior employees
b) Retired employees
¢) Future employees

d) Specific employees.
2. wfSreqor forerer Hsiferg -

a) FaA T
b) s
c) FEmr
d) U & JH TUT HITA T Sd B &

Training is related to —

a) Planning
b) Direction
c) Control

d) Improving employees' knowledge and efficiency.

3. Tryferemmeor wfskarm o =eor
a) ST e fomRre
b) AT H H =
c) wdf
d) A Tk STETIhRATST T ST




Steps in the staffing process
a) Training and development
b) Selection from applicants
¢) Recruitment

d) Estimation of human power needs

. TrafreRor 1 w2

a) TSI oIeh o
b) A& TeFH T
¢) TSI o2 &
d) U HeE I

Staffing relates to:

a) From political component

b) From the economic component
c¢) from social component

d) from human factor

. T9er & @ 5t Wl o1 Stiater 9id el B-

a) CAMHI
b) U
c) U
d) “9-99

Among the following, which is not an internal source of recruitment —

a) Transfer

b) Promotion

c) Arrangement of surplus employees

d) Trade Union

a) el SAfHAT FRT
DIREEEERA

c) IS Glleleh §RT
d) @fee g/

6."sh1 OX TfSreqor hi a9 | uftteror feum Siar 2

oJ P
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In the case of "training on the job" training is given.

a) by outsiders
b) by supervisor
c) by managing director

d) by secretary

7. = T IBAH 98T STUTid ST e

a) T&T & W

b) HEAR 9

¢) Tarsdwor & srehe @
d) e o

The best form of selection is based

a) on main exam
b) on procedure
c) on the analysis

d) on policies

E’gﬁ'ﬁ'ﬂgﬂ (3 3h) Short Answer Type Questions (3 Marks)

. HHATIET hT TATHTALOT AT R STt 22

Why are employees transferred?

. 9Tt o SITeT B k1 €T forfae (1 3)

Write the limitations of external sources of recruitment (Any 3)

. gfsreqor <Y wfeymer ifsie) =g fRem @ fore wepm firr 22

Give the definition of training. How is it different from education?

. HE GETYH T STIedehdT foh ST § Eid) 82

What are the reasons for the need of human resource?

. Uf3eror ue forehr § hig i 37aT T hHifsm)

Explain any three differences between training and development.

15




ST I (4 3h) Long Answer Type Questions (4 Marks)

il Uel = o o= T fafaw | (1S 4)
Write the difference between recruitment and selection. (Any 4)
. Tareqor qer wfsretor 7 siax ww fafEw | (15 4)
Write the difference between teaching and training. (Any 4)
. TS SR H SRR U= i =9 Tfshat i fiftae) (1S 4)
Write the process for selecting office employees in a factory. (Any 4)
. e Tt oieft At 7 o ferdrard & =nfew (9 4)

What are the characteristics of a good recruitment policy? (Any 4)

THETATRARRAARNN




7 - gy

Directing

a@ﬁ%ssrar "Eﬁ%ﬂﬁqgﬁm (1 37k) Choose the correct option (1Marks)

1. e -
a) TG Yo
b) HUSUT H STE
C) BIEGIBE: R
d) =R Jyyor

THETATRARRAARNN

Grapevine is —

a) Formal communication
b) Barrier to communication
c) Lateral communication

d) Informal communication.

2. o @ o ar fée ot dea T 22
a) AT
b) EUYT
c) TEAART
d) wdah

Which of the following is not an element of communication —

a) Motivation

b) Communication

c) Delegation

d) Supervision.

3. Ug-for=Tar fore SRR <l TEIOT STeT o Sfaia STt 82

a) Tichfdh STeT

b) TiTfes aren

C) forferen amen

d) TS ST




Status comes under the following type of barriers —

a) Semantic barrier
b) Organizational barrier
¢) Non semantic barrier

d) Psychological barrier.
4. TSI T GUTOT Fcfoht H SGei ht TTsHAT 3hT STHT ST 2-

a) HIEIH
b) THRITEST
c)‘;lﬁrflﬁj
d) femifem

The process of converting the message into communication symbols is known as —

THETATRARRAARNN

a) Media

b) Encoding

c) Feedback

d) Decoding.

5. RO i SR ScaTied)/Sardeh HIFeer o & —

a) forar

b) SHIEE

c) 9Iq

d) T,

The software company promoted by Narayan Murthy is —

a) Wipro
b) Infosys
c) Satyam
d) HCL




&)
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10.

ST U2(5 3ih)

Long Answer Type Questions (5 Marks)

T o ffae | (@18 5)
Write the functions of supervisor. (any 5)

&Y o (ST S o Ueh dcd o ®9 H G707 shT Hecd foilam)

Write the importance of supervision as an element of directing function of management.

. FRITOT Shl STl 1 BT 22 (IS 5)

Why is motivation needed? (any 5)
e & = Tt (#78 5)

Write the functions of direction. (any 5)

. HUNr ikt § {3 dedi st 3T WY AT |

19w 2w 3 fewifén 4. ufagly 5. wiemea

Explain the meaning of the following elements in communication process.
1. Sender 2. Medium 3. Decoding 4. Feedback 5. Collateral
O o STTTTIHAT shTTGAT ST g st THesy)

Explain Maslow’s need Hierarchy theory of motivation.
Sser oh HETH shref o Heed <hl i fsigatl <At = hifs)

Describe five points of importance of directing function of management.

. Tidem & fagrat &t vl il (@18 5)

Describe the principles of direction. (Any 5)

. HTO=TRER Y07 ST ST 39T # Ui S gy

Write down five differences between formal communication and informal communication.

¢[TcHeh SUTT 37 SRUTTeHeh 0T § Ui 3 fiifag)

Write the five differences between positive motivation and negative motivation.
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11. T 31 =dT % g qi= o7 fafay)
Write any five qualities of a good leader.

12. "G ety SfeRaT 3T g&T 2", 3T 3719 e Hd & ? 379 3T o THeH | IS Ui qeh a1 |
“Direction is the heart of the management process”, do you agree? Give any five arguments

in support of your answer.

=
=
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=
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8 - f=ror

Controlling

FEE T2 (1 3k o6 T20)

1. frersror =t eror T R -
(a) GhTHSD
(b) FERTH®
(c) =IMYhdl
(d) STRIHRT 1 &

THETATRARRAARNN

Is not a charateristic of control --

(a) Positive

(a) Corrective

(b) Generality

(c) Abuse of rights.

2. T e fe=isor gei-
a) Q%Eﬁﬁa‘%‘?’ﬁﬁ%
b) JeF-TEF
¢) TH-GH Tt 2
d) T Eeifer @

Both planning and control are —

a) Contrary to other
b) separate from each other
¢) synonymous with each other

d) interrelated.

3. e o A @ deiy TR -
a) oS
b) HTHH
c) Frdfafer
d) AT




Following is not related to the plan —

a) Budget
b) Program
c) Procedure
d) Motivation.

4. T=rToT Sfsha Rt Jen =T 8-
a) oS ST
b) wuTg e
c) TeaTeH ot HeishT AT
d) fererert =t aar T

The first step in the control process is —

THETATRARRAARNN

a) Preparing the budget
b) Setting up of standards
¢) Measuring the performance

d) Analysing the variation

5. S T % fore Qo sTravas © -

a) Tf3Teqor THT qRof
b) s

c) JeTh, ARG

d) eI

Preparation is essential for budgetary control -

a) training time table
b) budget
c) network diagram
d) Responsibility.
6. Trmfafad 3§ & gurrersh HEar § # 30 T2 82
a) EIERI T
b) TS bz
c) AT g
d) AT FE|




Which of the following is not suitable for corrective action?

a) Appropriation Center
b) Endocentric Center
c) Profit Center

d) Cost Center.

) Ueh ITe2 W 3T SITSTU- Answer in one word(1 37k o T2¥)
1. Te=ror HehTTenes BT AT THRRIcH it 82

Is the control positive or negative?
2. TR T T SR R 82
What is the main basis of control?
3. WRIGEE o dcd i hiA H 87
What are the elements of a supervisor?
4. STt FRimOT B ATavEh T )2

What is needed for effective control?

5. fogsror fsham & dca foraw &2

How many elements are there in the control process?
6. ek GIS ohT FRIA0T ST foh® TohTT ot i 22
Controlling an organization is which type of function
7. Toisror gorredt S B =R
How should be the control system?
8. ISl ohel U BIAT 87
When does stress arise?
9. e e 3 41 Zare Hi
Give any two examples of retirement benefits.

10. GhIIcHeR ITTITOM 3 R af 918 feifigy)

Write any two names of positive motivation.

23




12. T30 ¥ foret ST o1 T @I ST &2
What is detected under control? ql‘.
13, ToRITOT SToRAT H aTforeh F-SaTae 3 ot foher 31 STt &7
What is the actual performance in the control process compared to?
14. Trom T 329 I 22
What is the purpose of control?
15. GRICHe SHILaT hl STl hel Bl 87

When is corrective action required?

ngﬁ'ﬁ'qgﬂ 4 SW%EET%T) Short Answer Type Questions (4 Marks Questions)

Q1 - Te TTalT {2307 YOTTeft A st H Weh ETe i fohT foheT Sh{STSaT ohT |IHHAT AT Tt
2 Trg Hifsg |

What are the difficulties faced by an organization in implementing an effective control

system. Explain.

Q2 - Tor=rar o Tarswur ok SR fohet fohet aTall ah1 3T foRarm STTaT &2 ¥ i)

What are the things studied during the analysis of deviations? Explain.
Q3 - "FRITSI w frfror Ueh gat W it 21" ww it

"Planning and Control are interdependent." Explain.
Q4 - o ATl oToT SFereelT 35 STTarvareh o1 1 qHETEy| -

Explain the essential qualities of an effective control system.
Q5 - =T o forel wm fawanstt 1 Seorg Hifsy)

Describe any four features of control.
Q6 - FrisTor <t T ferferat ah ot fse 1

Explain the general methods of control.

Q7 - 2707 s STTerwehell T JehTeT STeid g fohwel =T feigafl =ht vl hifs)

Explain any four points highlighting the need for control.

ee .
"é 4
L 0 s "

Loy 3 o
—_— & %
|

»

& : "

24



Q8- s ht e ferfian) (1S =)
Write the limitation of control. (any four)

Q- "fA=OT T FRITSIH ST AT e et ot et e S aTet &1 81" €9 hifsTy

"Both planning and control are forward-looking as well as backward-looking."

Explain this statement.

=
=
=
=
=




9 - (i) ot wete, (i) o IR

(i) Financial Management, (ii) Financial Markets

WETWH%T (3 37h ) Short Answer Type Questions (3 Marks)
Q1 - forefiar STifRem = 8, 36ehT 37ved &8Il 82
What is financial risk, how does it arise?
Q2 - T ATe! foreiTar 1o o foheel i fofgatl =t wmamsy
Explain any three points of an ideal financial plan.
Q3 - forfia wsier & 3291 1 AuiF hifsg)
Explain the objectives of financial management.
Q4 - 3TET USfieRter o i areoit et frfiay
Write three characteristics of under capitalization.
Qs - ferefar wweter = g fAofert wx srrenfea g 21 39 fofer wht qwemsy
Financial management is based on three major decisions. Explain these decisions.
Q6 - 3T YSIERTUT o o1 TA&TulT i feTRay)
Write three characteristics of over capitalization.
Q7 - o~ foret T 27

What is treasury bill?

agra—ﬂ'ﬂ'emgr (4 3R aKET%T) Short Answer Type Questions (4 Marks)
Q1 - foxfiar yeiereh & JRTTEhIT SRIT T AU i) (1% 4)

Describe the official functions of financial management. (Any 4)

Q2- farta weiersh o foraTcHes hTaT o1 AU SHITSTT)| (TS 4)

Describe the functional functions of financial management. (Any 4)
Q3 - Torir ysier o Heea 1 AuiF IR | (F1E 4)

Describe the importance of financial management. (Any 4)

26
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Q4 - Tl & TRl T STt b1 Ui TS|
Describe any four functions of SEBI.
QS5 - YSit st fufart sht wecargul ST SfTet <R S 0T shl HHETST
Explain four major factors that make capital budgeting decisions important.
Q6 - USTt SITSTR 3 S <R <9 €AY ST SUHTI hT 0 HIfSTy
Describe the major four legal institutions or instruments of capital market.
Q7 - T = Ferefir Fefie ok = euit o6 i iferg
Describe four characteristics of a good financial planning
Q8 - ferfta forits ot = g forfay
Write four limitations of financial planning.
Q9 - Toritar fonsm o = ot & ferfa)
Write four advantages of financial planning.
Q10 -fercitar eis o = #eed fefaT |
Write four importance of financial planning.
Q11- AT =T ATerehad sHiT forfiT Teier T 323 © 38eh U&7 § qeh SIfSIT |

Maximization of profit is the main objective of financial management. Give an

argument in favour of it.

Q12- TTH I STTIHaH AT fori T Yoo o1 H&T 322 © | 36 o fod9&T H deh aI1C |

Maximization of profit is the main objective of financial management. Give an

argument against it.

e 3T T (5 31k & T2N) Long Answer Type Questions (5 Marks)

Q1 - IR T T2k TSt (NSEI) T TR & S~ Uil 1% 33T (OTCEI) ¥
i Ty Hifm

Explain the difference between National Stock Exchange of India (NSEI) and Over
the Counter Exchange of India (OTCEI).
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Q2 - TET TSR o farfi s StordT weed! ! aHeisy|
Explain the various functions or importance of money market.

Q3 - The foafor & it sl qH=ATZY (S 5)

Explain the functions of inventory marketers. (Any 5)
Q4 - STt ST et fd e ITeR & 37 99emsy) (1 5)

Explain the difference between primary market and secondary market. (Any 5)
Q5 - Tt T AT IR 2 Tefl o 1 ST bl TIT IS |

What is meant by SEBI? Explain the three objectives of SEBI.

Q6 - Tor aEe ol TuTferd s aTet fohegt Tier S1eehl ot ol ShifsTd |

Describe any five factors affecting the financial system.

Q7 - YSiT SITSTR 37 & SIS o sfi=l 1=t €9 hifsil

Distinguish between capital market and money market .

Q8 - TR YSit Rl TwTTerd i ATt 52k i hid | &2 (13 5)

What are the factors affecting working capital? (Any 5)
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10 - fargurT Terer

Marketing Management

<) WWWW (1 37R) Choose the correct answer ( 1 Mark)

1. U 7= siue o faar 7 2
a) 9 I=RIT
c) ITHYH

Which is not the quality of good brand:

a) Easily Pronounciable
c) Attractive

2. T wrsew S el
a) e Hq(E
c) ATH ‘él‘glfg

It is not objective of sales :
a) Customer Satisfaction

c) Self Satisfaction.

b) T
d) @fier

b) Memorable

d) Expensive

b) NI T T
d) S8 @ hig et

b) Reduction in cost

d) None of these

3. Uehol X1 YUTTEA! o SFaid fwTdT 9T HTeT ST -

a) TcTeT SUHRIST i
b) ST TSI

b) =ieh fersharatl s
d) e forshaT s

Under a single distribution system, the manufacturer sells his goods to —

a) To Direct consumers

b) To Commercial agents

4. oo fersyor we wE 2-
a) forqorT e v
b) SFT HTEFT T
Marketing mix is the set of —
a) Marketing tools

b) Purchasing tools
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b) To Wholesalers

d) To Retailers.

b) ferskar et
d) fmfor Tes

b) Selling tools

d) Manufacturing tools




5. Toreft forie FermoreRa ST SITSIT # SR foh ST ATet SeaTat ol el e sheat T &:
a) IS b) 3eqTE T R '
b) ScTE fasrT ERIEERMII

The total number of products and items that a marketer offers to the market means—

a) Product b) Product quality
b) Product mix d) Product method
T (B) Ueh 158 / TR W IR feTiag

Write the answer in one word

1. fordlt Scurg ot faf3Ts we=r e s Sht foram =Rt s hed 82
What is the process through which a special identification of product is established
called?

2. fooom g F @ da fra g 2 2
How many elements are there is marketing mix?

3. fouue fisy fagm @ = e
Marketing mix is an art or science?

4. JSHTeh hdT SIUS BT &7
What type of brand is trade mark?

5. 3G o SIS T ITE QT 82

What begins after production?
6.  CSHTE FATR?
What is a Trademark?
7. ScUTEd o g fefg ST v o BT €, 3H R hed &7
What is the point of production where there is profit and loss called?
8. wifSmaT?
What is Branding?
9. IUREH AR ?
What is meant by product?

10.  Ta9u <A1 wer EHTISTSR STshaT SRt shel STTdT 22

Why is marketing called a social process?

oJ P
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Y I U2 (3 3k Tt 4 k)

"

Short Answer Type Questions (3 Marks and 4 Marks) ‘mﬂ.
1. U <D SUS H hid-shi @t forgrwand gt =nfee | (1% 3)

What are the essential of a good brand? (Any 3)
2. fovm i wee fafaw | (1% 3)

Write the importance of marketing. (Any 3)
3. oo e fafa (@7 4)

Write the functions of marketing. (Any 4)
4, Togmm o tw fafaw 1 4)

Write the objectives of an advertisement. (Any 4)
5. VST 3R JSHTh U S T8 HINTT | (F1 4)

Distinguish between Branding and Trade mark. (Any 4)
6.  fomum s fershaor & siqt wag A | (1 4)

Distinguish between marketing and selling. (Any 4)
7. 3cd1e et ont wTferd SR ot dea feflaw | (1 4)

Write the factors that affecting product mix. (Any 4)
8. I o Hed Ui sl wwifed i ATt acdl fafed | (i 4)

Write the factors affecting the pricing of goods. (Any 4)
9. oI W G T AT Seidl 8" 37T 36 U § TEHA © AT 812 3T I o6 arelT

¥ ek fetfa)
"Expending on advertising is a social waste." Do you agree with this statement?

Write arguments in support of your answer.

oJ P
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11 - SUTIRT TR0

Consumer Protection

Y IR I (4 3ih)

Short Answer Type Questions (4 Marks)

1. ST SusTiehT Her o AT s GHEATSA| (1S 4)
Explain the rights of the consumer forum at district level. (Any 4)
2. UVIKHT HREI0T HATUEH 1986 31 SHE fRIsdrat 1 quid i
Explain the salient features of consumer Protection Act. 1986. (Any 4)
3. U AIETT il STHRRTSAT o Tfd STRETRIcA sl qHSTEA| (F1S 4)
Explain the responsibilities of a business towards consumers. (Any 4)
4. ITHIHT =TT H T hi &t 6L Fehdl 82
Who can file a complaint in a consumer court?
5. JUVIRATST o GESRIT | ITHIRT TLET o HEed ohl GHEU| (F[S 4)
Explain the importance of consumer protection from the point of view of consumers.

(Any 4)

6. TVIHT TREVT o Heel H STHITHT €131 T NGO T {1 ohl THZATT|
Explain the role of consumer organizations and NGOs in relation to consumer
protection.

7. fewuoft fafaw) @is @) (i) forerm B, (i) T A, (iii) T 3T
Write a note. (Any two) (i) District Forum, (ii) State Commission, (iii) National

Commission
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el 3T T (6 37F)

Long Answer Type Questions(6 Marks)

1. JTHIHT 6 - § ST 82 UM HISY - (3T 6)
What are the responsibilities of a consumer? Explain. (Any 6)
2. JURET o - T ATTHR 82 Iu HIRTY (15 6)
What are the rights of consumer? Explain. (Any 6)
3. IR TRETOT 3% IR I HHIEY | (FE 6)
Explain the measures of consumer protection. (Any 6)
4. 3TIAT HTEIVT % Teed BT GHSATEA| (H1S 6)

Explain the importance of consumer protection. (Any 6)

5. FEGHA! ! G GHT Teh SUHITHT GRT €4 H T ST aTed fohre] B8 StRaTcal shl GHeTS|

Explain any six responsibilities of a consumer which should be kept in mind while

purchasing of goods.

6. 3 VIR ST i SATEAT HITST ST STHITHT Sh HETUT SEH Ld o

Explain the Indian laws which provide protection to the consumer.

7. 1w =Rk O o qRd STHIRAIST! ohl Ioh! RTSRIIAT oh AT o foTq Jucted farfer= adieht
FTR AT T ARSAT
Explain the various ways and means available to the consumers for redressing their
grievances Under Three-tier Judicial Machinery.

8. &R ol EEd T Teh ITHIHT G 4T § T ST AT foheel S8 ITRaTiieal ohl aHeTedl|
Explain any six responsibilities of a consumer which should be kept in mind while

Purchasing of goods.
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